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RAIEFHR Gy /91 A)
KAk
L= 5 1-E3 5 2- U H 5 3-MH 48 5 4- a4 8
4A3B~7A3H) (TA3B~10A6H) (10A6H~1A6H)
1 127 £ 0.0 125 =+ 1.1 125 =+ 09
2 135 =+ 1.0 133 =+ 05 132 £ 09
3 112 =+ 1.7 112+ 00° 112 + 29°
4 144 + 15 145 =+ 1.1% 143 + 06°
5 159 =+ 1.8 154 + 1.6 162 =+ 1.4
6 107 =+ 1.7 105 =+ 0.0% 104 =+ 0.0%
7 110 =+ 15% 109 =+ 09" 107 =+ 05°
8 140 =+ 06 138 =+ 14 137 £ 09
9 120 + 06 119 =+ 1.1 118 =+ 1.1
10 108 =+ 1.0 107 =+ 05 106 =+ 1.1
L 8551 BB 49 =+ 06 47 * 04 48 =+ 0.7
B8AR28B~7TATH) 6H278~10A10H) (10A1B~1A9H)

1 REHEIZ4ATE~TA4BTHD, 5 REHMEEI10A7EH~1 A6 HTHD.
*2: REHREIX4 A4 B~TR4BTHS, *6:HREHREIE10ATBE~1 ATETHS.
*3: FREHEIE7A3IBE~10RA 78 THS,
*4: FREHEIE7TA4B8~10A 78 ThHb,
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